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 5,3    ؛      0         ؛ 5,29؛         −9,68      ؛    −8        ؛    6       ؛    −9,7  :  ا���اد ���ا�� �ر��  )1

"�رة  �� )2� �#$�� ��%
,0 أو$� &'&� أ��اد �
%�� (��#� و &'&� أ��اد �  −0,1  و  2
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2:  أ��� )1 ( 5)+ 2      ؛       − 5− )        ؛      + 2) ( 5)− + 10,9       ؛        − 0− 22,4-       ؛        + + 22, 4     
                           4 - -1-    ؛           8 6-           ؛        (7-) - 20    ؛                   6 - 31+ 42 -12 - 42          
 :أزل ا�,�اس &* أ��� )2

                                                    (25 78,2) (46 78,2)A = − − −  
                                         9 ( 83 6, 4) ( 7,1 9 83)B = − − + + − + −  

                                             ( )(2 ) 6C x y x x y= − − − − − +    
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